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EE X 4 B2 | TFiwmhoDiER ADKES X 4 ‘Fﬁﬁfafgax}@ ‘S | InKES X 4 B | L#mrookE ADKRES X 4 o ntts | Ba ADKES
(m) (m) (kN/m) 6B (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/mM%#BZ % 1.00/ 000 ~ 2.06 131.82|3m%#8x%(0.00 ~ 0.04| 3.03 15.31| 100kN/mMZ# %% 1.00| 11.71 ~ 20.00 131.82|3m%#8% %[ 20.00 ~ 20.00( 3.03 15.31
ZTh st 1.00/ 206 ~ 984 100.00f Zhlist [ 004 ~ 984 3.00 15.16 ZTh LS 1.00] 500 ~ 11.71 100.00f Zh st | 500 ~ 20.00| 3.00 15.16
9 100kN/mM%#BZ % 1.00/0.00 ~ 249 138.95|3m#%E#Z 5| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.65 ~ 20.89 138.95[3m%#B %% -~ - - -
ZTh st 1.00] 249 ~ 10.27 100.00| #hLlst (000 ~ 10.27| 281 1419 ZTh s 1.00] 500 ~ 10.65 100.00( #n st | 500 ~ 20.89| 2.81 1419
3 100kN/mM%#BZ % 1.00/ 000 ~ 274 143.29|3m%E#ZB| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.62 ~ 25.34 143.29|3m%E# 2% -~ - - -
ZTh st 1.00| 2.74 ~ 1053 100.00| #hLlst [ 000 ~ 1053| 2.96 14.97 ZTh LS 1.00] 500 ~ 10.62 100.00| #hkist | 500 ~ 2534 2.96 14.97
4 100kN/m#%#BZ % 1.00/0.00 ~ 270 142.50|3m#%E#ZB| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.82 ~ 27.61 14250|3m%# 2% -~ - - -
ZTh st 1.00/2.70 ~ 1048 100.00| #hLlst [0.00 ~ 10.48| 289 14.63 ZTh s 1.00] 500 ~ 10.82 100.00| #hklst | 500 ~ 27.61| 2.89 14.63
5 100kN/m%#B% % 1.00/000 ~ 271 142.69|3m%EHZB| - ~ - - -] 100kN/mM%E#B 2% 1.00| 10.88 ~ 28.66 142.69|3m%E# 2% -~ - - -
ZThLst 1.00] 2.71 ~ 1049 100.00| #hList [0.00 ~ 10.49| 288 14.56 ZTh LS 1.00] 500 ~ 10.88 100.00| #hLlst | 500 ~ 28.66| 2.88 14.56
6 100kN/m%#BZ % 1.00/0.00 ~ 261 141.05|3m%EHZB| - ~ - - -] 100kN/mM%#B 2% 1.00| 11.01 ~ 28.76 141.05|3m%# 2% -~ - - -
ZThLst 1.00| 2.61 ~ 1040 100.00| #hLlst [0.00 ~ 10.40| 2.86 14.43 ZTh LS 1.00] 500 ~ 1101 100.00| #hList | 500 ~ 28.76| 2.86 14.43
7 100kN/mM%#BZ % 1.00/ 000 ~ 1.72 126.33|3m#%EHZB| - ~ - - —-| 100kN/mM%E#B 2% 1.00| 12.69 ~ 27.89 126.33|3m%# 2% -~ - - -
ZTh st 1.00/1.72 ~ 950 100.00| #hLlst [000 ~ 950 269 13.61 Zh LS 1.00] 500 ~ 12.69 100.00| #hklst | 500 ~ 27.89| 2.69 13.61
8 100kN/m%#BZ % 1.00/0.00 ~ 1.07 116.09|3m%E#ZB| - ~ - - -] 100kN/mM%E#B 2% 1.00| 1240 ~ 18.13 116.09|3m%# 2% -~ - - -
ZTh st 1.00/1.07 ~ 885 100.00| #hLlst [000 ~ 885| 211 10.67 Zh LS 1.00] 500 ~ 1240 100.00| #hList | 500 ~ 1813 2.11 10.67
9 100kN/m%#BZ % 1.00/ 000 ~ 1.81 127.89|3m#%EHZB| - ~ - - —-| 100kN/mM%#B 2% 1.00| 10.70 ~ 18.00 127.89|3m%E# 2% -~ - - -
ZThLlst 1.00/1.81 ~ 960 100.00| #hLlst [000 ~ 960 228 11.53 ZTh LS 1.00] 500 ~ 10.70 100.00| #hkist | 500 ~ 18.00f 2.28 11.53
10 100kN/m%#B% % 1.00/ 000 ~ 1.98 130.53|3m%E#ZB| - ~ - - —-| 100kN/mM%E#B 2% 1.00| 1057 ~ 18.35 130.53|3m%# 2% -~ - - -
ZTh st 1.00/ 198 ~ 976 100.00| #hLlst [000 ~ 976 2.33 11.75 ZTh LS 1.00] 500 ~ 1057 100.00| #hkist | 500 ~ 1835 2.33 11.75
» 100kN/m#%#BZ % 1.00/ 000 ~ 1.21 118.34|3m%E#ZB| - ~ - - -] 100kN/mM%#B 2% 1.00| 12.05 ~ 18.31 118.34|3m%# 2% -~ - - -
ZThLst 1.00/1.21 ~ 9.00 100.00| x5t [000 ~ 900 213 10.77 ZTh LS 1.00] 500 ~ 1205 100.00| #hList | 500 ~ 1831 2.13 10.77
12 100kN/m%#BZ % - -~ - -|3mEEZ5 -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2x B -~ - - -
ZThLlst 1.00/ 000 ~ 443 55.31| #hList | 000 ~ 443] 237 11.98 Zh LS 1.00] 500 ~ 836 55.31] #h L4t | 500 ~ 836| 237 11.98
13 100kN/m%#BZ % -l -~ - -|3mZEBZB| - ~ - - —-| 100kN/mM%#B 2% - -~ - -|3m%EBZ5 -~ - - -
ZTh LSt 1.00/0.00 ~ 477 59.48| #hList | 000 ~ 000| 1.71 8.64 Zh st 1.00] 500 ~ 500 59.48| #hbLlst | 500 ~ 500] 1.71 8.64
100kN/mM%#B% % ~ ImERBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh st ~ zh st ~ ZTh LS ~ ZNLS ~
100kN/mM%#B% % ~ ImEBZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZhLlst ~ Zh LS ~ Zh LS ~ st ~
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